Aldehydes & Ketones
Answers and Explanations

1. A

The reaction which has occurred is imine formation.
The amino acid tyrosine has reacted with the nin-
hydrin reagent through nucleophilic addition of its
a-amine group of the to the carbonyl group of the
ninhydrin. Imine formation proceeds first with nuc-
leophlic addition to form a tetrahedral intermediate
followed by dehydration to form the imine.
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2. C

Glucose ring formation is an example of the hemiac-
etal phase of acetal formation in which an equivalent
of alcohol forms a tetrahedral intermediate with an
aldehyde.
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The intercoversion of the o and 3 anomeric forms
of glucopyranose occurs through the straight chain,
ring opening by hemiacetal formation in reverse, and
followed by closure to form the hemiacetal now in-
verted at C1.

3. A
Sodium hydride base converts the reagent into a res-
onance stabilized enolate anion.
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The negatively charged carbon depicted in one of the
resonance forms of the enolate anion is nucleophilic.
The reaction proceeds via SN2 substitution.

4. B

The reducing agents NaBH, or LiAIH, transform an alde-
hyde or a ketone into an alcohol. The reduced form of an
aldehyde is a primary alcohol.

5. B

When you have the structural formula of an organic com-
pound, assign oxidation numbers by deciding which atom
has 'control’ of the electrons in the bonds. Control goes to
the more electronegative atom.

Each of the electrons carbon brought to the double bond
in the carbonyl bond to oxygen in G3P is assigned to oxy-
gen. Those are under oxygen's control. They are oxygen's
property in the oxidation-reduction accountig system.
However, that carbon has also 'gained' the one electron that
hydrogen brought to its bond to the carbon. The carbon in
the aldehyde at the start, in other words, is in the position
of having lost two and having gained one, so the oxidation
state of the aldehyde carbon in glyceraldehyde-3-phosphate
is +1. Remember henceforth that the oxidation state of a
carbonyl carbon in an aldeyde is +1.

After the reaction, the carbon will now have three electrons
invested in bonds to oxygen (a double bond and a single
bond), so its oxidation state in 1,3-bisphosphoglycerate
has become +3. It has been oxidized by NAD" in a two
electron transfer. These two electrons are now the property
of NADH. Remember that the oxidation state of a carbon
in a carboxylic acid (or carboxylic acid derivative, here a
phosphate anhydride) is +3.



6. D
The amino acid lysine possesses a primary amine
side-chain.
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A primary amine reacts with an aldehyde to form an
amine.
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7. C

The ring form of glucose is a hemiacetal (See question 2
explanation). The methyl glucoside formed in this reaction
is an acetal. Formation of an acetal from a hemiacetal
proceeds through nucleophlic attack of an alcohol upon
an oxonium cation intermediate. Because the attack can
occur from either plane of the ring, a mixture of o and
forms is obtained.
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Because the B form possesses lower free energy, it will
form predominatly. Even if the two forms occurred at
equal concentration, however, the choice could not be 'D'
because the solution would not be racemic. The a and 3
forms are not enantiomers. They are diasteriomers and a
solution with equal concentrations of the two would still
show optical activity.

8. A

The first step in Kilani-Fischer synthesis is to react the
starting sugar with aqueous cyanide. The cyanide under-
goes nucleophilic addition to the carbonyl group of the
sugar forming a cyanohydrin. Cyanohydrin formation is
an important tool of organic synthesis because it can form
a new carbon-carbon bond.

While sugars tend to exist mainly as cyclic hemiacetal, they
are always in chemical equilibrium with their open-chain
aldehyde or ketone forms, and in the case of these aldoses
it is that aldehyde form that reacts in this synthesis.
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Note that because the cyanide can add to either plane of the
trigonal planar carbonyl group, the cyanohydrin resulting
from this addition consists of a mixture of two diastereo-
mers. The stereochemistry of all the previously present
chiral carbons is preserved.

9. D

Keto-enol tautomerism can occur with carbonyl com-
pounds if the carbon adjacent to the carbonyl, the a carbon,
possesses a hydrogen. Such a hydrogens are acidic. The
conjugate base formed is resonance stabilized. Keto-enol
tautomerism is an important factor in the reactivity of
aldehydes and ketones.
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One of the MCAT's favorite reactions is aldol addition, in
which the enolate form of one aldehyde or ketone acts as
a nucleophile to attack the carbonyl carbon of another (or
another equivalent of the same aldehyde or ketone).



The cross-link in collagen depicted in the problem has
formed between two alllysine residues. Allysine is an al-
dehyde derivative of lysine produced by the action of the
enzyme lysyl oxidase.

The reaction below would be termed aldol condensation.
Aldol condensation is aldol addition followed by a de-
hydration step. An aldol condensation product is an o,f3
unsaturated carbonyl compound.
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To be able to work backwards from an aldol addition
product or an aldol condensation product to determine
the original carbonyl compounds involved in forming the
product is an important figure of merit for the MCAT. The
key is locating the original a carbon in the product (it will
be adjacent to a carbonyl group) and the original carbonyl
carbon, which will either possess a hydroxyl group, in the
case of aldol addition, or be on the far side of a double bond
in the case of the full aldol condensation.

10. D

When you have the structural formula of an organic com-
pound, assign oxidation numbers by deciding which atom
has 'control' of the electrons in the bonds. Control goes to
the more electronegative atom.

Each of the electrons carbon brought to the double bond in
the carbonyl bond to oxygen in pyruvate is assigned to ox-
ygen. Those are under oxygen's control. They are oxygen's
property in the oxidation-reduction accountig system. The
C2 carbon of pyruvate at the start, in other words, is in the
position of having lost two electrons, so the oxidation state
at the start is +2. Remember henceforth that the oxidation
state of a carbonyl carbon in an ketone is +2.

After the reaction, the carbon will now have one electron
invested in a bond to oxygen, so it loses that one, but it
also has a bond to hydrogen, so it gains an electron there,
the electron hydrogen brought to that bond. The carbon's
oxidation state in lactate is therefore 0. It has been reduced
by NADH in a two electron transfer.

11. C

In aldol addition, the enolate of one carbonyl compound
nucleophilically attacks the carbonyl of another.
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In the step of the citrate synthase mechanism shown in
the problem, the enolate ester of acetyl CoA is acting as a
nucleophile to attach to the carbonyl group of oxaloacetate.

12. D

Two substances with the same molecular formula but
different connectivities in their structural formulas are
called constitutional isomers. Tautomers are constitutional
isomers which readily interconvert.

As long as it possesses an a hydrogen, a ketone will inter-
convert with its enol tautomer. This means that some of
the enol form will be present in aqueous solution, as well
as the enolate intermediate in the conversion (in neutral to



basic conditions). Keto-enol tautomerism opens aldehydes
and ketones up to a whole dimension of reactivity.

Similarly, an imine possessing an a hydrogen will be in-
terconverting with its enamine tautomer, which opens up
imines to a dimension of reactivity.
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In biochemistry imines (the subset possessing an 'R' group
on the nitrogen) are referred to as Schiff bases. In other
words, what an organic chemist would call it an imine (or
a ketimine), a biochemist calls a Shiff base.

Imine-enamine tautomerism is at least as important to
biochemistry as keto-enol tautomerism, and keto-enol
tautomerism is important!

13. D

The intermediate which converts nonenzymatically into
1-pyrroline-5-carboxylic acid in proline biosynthesis is
glutamate-5-semialdehyde. The reaction that occurs is an
intramolecular imine formation.
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14. A
Hydrolysis of an imine is simply imine formation in re-
verse.
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Transaminase interconverts a-amino acids and a-keto
acids. Examples the transaminase reaction include the
interconversion of alanine and pyruvate, aspartate and
oxaloacetate and glutamate and a-ketoglutarate. Trans-
aminase is an key enzyme in amino acid breakdown and
synthesis, the malate aspartate shuttle, and the urea cycle.



15. D

It is an important point to emphasize in biochemistry that
many biochemical processes are facilitated because their
occurance coincides with formation of a resonance stabi-
lized enolate anion.

Decarboxylation of acetoacetate:

The ketone body acetoacetate undergoes a steady rate of
nonenzymatic decarboxylation forming acetone in the
blood. Acetoacetate is a B-keto acid. B-keto acids lose
CO, very easily because the reaction passes through a res-
onance stabilized enolate anion.
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Pyruvate kinase:

One of the driving factors behind the phosphoryl transfer
potential of phosphoenolpyruvate (PEP) is that transfer of
the phosphoryl group onto ADP leaves behind an enolate
anion.
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Enoyl CoA hydratase:

Enoyl CoA hydratase is a step in the pathway for the oxi-
dation of fatty acids.
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The reaction is a Michael addition. Although Michael
addition is not on the list of MCAT reactions, from the
AAMC section bank, knowledge of Michael addition
does appear to be figure of merit for the exam. In Michael
addition, a nucleophile attacks the [ carbon of an a3 un-
saturated carbonyl compound. Nucleophiles attack the 3
carbon because the addition leads to an enolate intermedi-
ate as in the enoyl CoA hydratase mechanism:
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Triose phosphate isomerase:

In glycolysis (and gluconeogenesis) triose phosphate
isomerase interconverts dihydroxyacetone phosphate and
glyceraldehyde-3-phosphate. The enol of both is an inter-
mediate in the interconversion.
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16. A

Hydroxynitriles are more often referred to as cyanohydrins.
In cyanohydrin formation, cyanohydrins are produced
through the reversible nucleophilic addition of cyanide
anion (CN-) to an aldehyde or ketone. Reasoning function
from its name, hydroxynitrile lyase is the only plausible
choice among those given which could liberate cyanide.
The enzyme catalyzes the reverse reaction.
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17. C

Constitutional isomers are two molecules with the same
molecular formula but different connectivity. Constitu-
tional isomers that can interconvert in a rapid equilibrium
are tautomers. The lactam and lactim forms of uracil are
tautomers. The interconversion would be a tautomerization.
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